KNotes: Parabolas

Parabela: the set of all points equidistant
from a point called the €ocuy and a line
called the d‘nrp_clm\ﬁ \

The distance between
the focus and a point on
the curve =
the distance between the
directr.x and a point on
the curve.
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The Focus 15 the focus because, . .

nttp.www ies cojp/mathfjava/conics/focus/focus himl

Now for ANY parabola:
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Paraboly that opens Wp
whare p = distance bhw
Vertew and Focuws,

Ck... so using the definition, let's come up with the equaticn of
a parabola:
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The line perpendicular to the parabola’s
d‘\re,etr‘\x and passing through its focus
and Nerkey is the owis of symmera) .
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In the parabola to
the right, the AoS
is the y-axis.
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Notes: Paraboias
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Ceonic Ferm of a pamnolq opzning rﬁZd’ﬂ'&lL‘
(ﬂ'k) =yp (x-h) |

Conie Forn of a parabela opening \”-H"Ua“\*

*Hirt:

it y-quantity is not squered then opens up & down;
T x-guantity is ot squared, ther enens left & richt.
"note: thisis consistert w/ the direction of the x
and v ixes

EX: Feor eoch parabela, write the equation in SF,
stote the vertex, focus, and direcirix and then graph.

o (W2 ) = H(y+l)
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¥ add/sub to y if it's vertical

*add/sub to xf it's harizontal,

(x--hJ" = 4ply - (y=kY' = 4p(x-h)

vertex = {h, K)

p = the distance from the verfex to the fotus
whick is the same as the disiance from the
vertex o the directrix

*the opening of the parabcla is based on The
sign of 4p
positive 4p: Opens UP""%M‘
negative dp: OPgnS dobﬂﬂl l’f{‘

* . . '
The “larger” pis, the fetter the creph witl be.
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* gdd/sub to v if 1t's vertical

*add/sub to x if it's harizontal,



7
/otes: Parabolas

5 S»mez‘c(:? pto find the

directrix. X: -7

* add/sub toy if it's vertical.
*add/sub to x if it's horizontal,
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(x+2)? = 4y44
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v:(-3,0)
' F"(li&)
dir X=-7




Nofes: Farabolas

rabola with vertex {- l)s}
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b) vertex (-L\ ):i} directrix \{ TN

Ex: Write the equation from the information given:

a. vertex ("l,'ﬂ'f"ws (5 ,7 ;
(l ) . Q(-I-(-l)z‘:g(\!-l-Z)

\[H)z: 8(x-q) —




